BATMEELEHEEFERS HKSC RESULT

H#H /¥ r30F9823H(H) &35/ WA HILE L HNS KIE/HEN
Ck=HO#EHE =824 itix €=BCiEHE ORNHMF=HKSCERIEL GR=KE#HIHK)

BAEEEF) fBAEH(ZF)
£ = K4 FE|A| RBE |BE|BEE] | £ (=] K% FE|A| 2B [B]| B
41100m [|:FE&E 15 16"09| 6 * 41100m [BE B 15"43| 4 15"94] 3
4[100m [lLE BE 16"68| 7 * 4(100m [BR2 ZEx 16"05| 2 16"68| 6
41100m |MEx NE 16"78| 6 41100m [JI# BE 17"14] 1 *
4(100m |EEA X% 17"22] 6 4(100m [N HF 17"54] 2
4(100m & £ 17"37] 8 * 41100m [hE & 17"55] 3 *
4[(100m [BBR FEN 17"41] 8 < 4(100m [E &AM 17"83] 4
4(100m [AA 3HE 17"72| 8 41100m |ET &=RK 18"11] 6 *
4[100m [BBE & 18"26| 8 £ [ELE] K% FE|B| 2B [B]| B
4 [E=Bk Ek  KZE 1m10] 1 |®® s[100m [N EE 15"16] 3 15"47| 2
£ =] K4 FE|E| 2B |[B]| B 5/100m |l ZEB 15"50[ 1 16"52] 4 [¥¢
s{100m [ RE 15"39] 3 5/100m |HE EK 16"71] 5 <
5{(100m [BBIR EN 15"08] 3 * 5/100m |=@A EE 17"43] 6 <
s5{100m [N BE 15"82]| 5 * 5/100m [5ER BAIK 17"97] 5 *
s{100m [RIE =|E 15"84| 4 * 5/100m |K%x %EAB DNS
5[{100m [ #iz 15"85]| 5 * 5]/100m |BE DNS
5{(100m [AS #®i= 15"90] 5 * 5/800m |M¥F FEZXE 2'45"85[ 2
5]1100m [AfF m#k 16"27| 4 5[(800m [&®n #WF 2'47"10] 3
5{100m [#EH XM 16"31] 6 5/800m |&& )b 3'02"18] 5
5{100m [&K R 16"71] 5 5 |FERBk EH BE 3m12| 2
5/(100m |EX BE 17"14] 7 S [ELE] K4 FE|B| 2B [E]| B
5/100m [FE #&3} 17"29( 7 6[100m |# HH 13"93 1 DNS GR
5]/]100m [BB% = 17"65| 7 6(100m [EA F= 14"11] 2 14"44] 1
5[soo0m [BE #HmE 2'48"19] 8 6l100m [#IH #&&F 16"25] 3 16"55] 5 [¥¢
5(800m [AAx =Em 3'01"64| 10 6l100m [l Fmt 16"38| 4 17"04] 7 [
5]800m |4£H Mk 3'14"22[ 11 | @ 6|1800m |RIF =M 2'41"33] 1 [
5 [FEMERE Y &5 2m98| 5 6[(800m [FH kit 2'57"15| 4
£ e K4 FE| B[ FE [B]| EE 6 [ESBk ¥EE  #5hN 1m25] 1
6 1100m |EF& Etbsk [13"33[ 1 13"56] 1 [ 6 |EmERk Bl E 3m83]| 1
61100m |FH =E& 13"47| 1 13"79[ 2 | &
6[100m [EH BE 13"57] 1 13"94| 3 [%
6l100m [BE %P 13"71| 1 14"14[ 4 |*
6l100m [|5H &N 14"31] 2 14"56| 5
6l100m [|AO HE 14"61] 2 14"76| 6 YL—(&F)
6l100m |HN EF 14"62] 2 14"79] 7 F£| F-L% K4 B>
6 1100m [ILEE EX 14"75] 2 | 4| IE RE
61100m [IAfR &E [15"12] 4 * 4] 4 eSS *®
6 |100m [@kF ZHIE 15"63| 3 | 4] P B&
6|1800m [|®ER Fix 2'31"66] 1 4 BR Ee
6|1800m |FA 4 2'34"45[ 2 |% F£| F-L% K4 B
6 [800m [ BX 2'35"03[ 3 |*x | 5 EH BE
61800m [|ETI EX 2'38"63| 4 5 A EK "
6 [800m |BR 5k 239°66] 5 S M EE R 6685 | 3 |®
6|1800m |EM ek 2'47"65| 7 5 =HH EF
6|1800m |MAx EFE 2'59"38[ 9 F£| F-L% K% TRES| & RE [E]| B=
6 [EfEBt [BE = 4mo1| 1 | 5 | g EE
6 |EMREBE R kK 3m91| 2 | 5 | B INTIREE! 6011 | 1 |&
6 |FEIRDE MHE  EFH 3m62| 3 |[&k | 5| e
6 |EMREBE Al KX 3m26] 4 |k 6 #eHE  #5

| 5| A& BAH

6 EECE
YL—(BF) 5] " [EE = DNS
£ | F-L% K% TRES [E3 6 EH O EXE
| 6 | BER #HT
| 6 A B gt 5347 YL-(BF)
| 6 | SH &N F| F-L% K% TRES
6 EH BE | 4] EEEES
6 O R 4 EEE B "
6| 5 FEEE o, ~ = Y EEE
| 6 | FH &5 4 BREN
6 ZB T F£| F-L% K% TRES
| 6 | EE B | 5| HE W&
6 ER A " 5 2 RE "
a C T Fer 57"04 * = 5A °E B 59"99
6 W EX 5 Bk BN
| 6 | B B | 5| BT =EH
6 Tl EIE " 5 kIR B8 "
] D TS 59"70 4 = 5B T B 64"49
6 IAR EE 5 2l #E
| 6 | AlE K | 5 | #®
6 BT EX " 5 MR =Em "
] E T B 62"72 * = 5C EE 68"35
6 N 5 Y K5

16




